—— -

AR ORE R E
5 M m
[ REhiE S )

(REFET0AHKET)

[(BADREIEA —F —HK]

< EEHEEEETSV >

X % % W =
ROFER VT BEREEARCEENET
i B [5me - E5E anEenn)
. ARG - BEEEER - REEER -
Dl EERR e BRER . BEmR - L 33.000 7
HER  CORmmunE cRRoshRRER - HE
RBEERE S D)
HERE 5,600 M
@ | mExs EEEE (1 0 SABAER) 22,000 1
BESE (65HMBRIER) 44,000 3
1~4F 22,000 H
. _ 5~12F 33,000 M
e 1#i=o= 13~207 44,000
21F ULk AEHsREY
— 1FRICO&E 11,000 M
O | TRERR T gwm 1mmiozs 27,500 F
= 18> F 11,000
—ERY LT 1ZKIco>E 11,000 M
BEy  EEDE | o= 16,500 F3
BEFXEE 1 X@cDE 2,200 M
X1 [BEA]
1T#H=><>>ay - 7/i_—Fh
1A =>FETER - XOA
BXEEOEAE. CBSTERINTVIREFICSLTCHIRSRBYRLET,
X2 CHEBEBBRE EHNEEOCRE. FRAE, TOMOME, IGERENHLIBEFIESEEBY L4 Y F£4,
Ll NS TR s e P
(QiE=Fc-)
-BEE5YES = FEEHE 11,000 M
- FREmENEENSLE = 5500 ~ 22000 H
¥4 CHELIFFIRTOEEREHME LY £,
BA, 3HACE, FFECLOBEENE CHEDHERUVIREEFEZ/ER SN TV I BEIFHNESERBYBLETS,
KO HATHEOEI S —, HARFLENTSSMETES,
X6 I FERBRICHRBEERIIHNY FHA,
. EEHSOBBHRE ([ wme )
e N P FR A I
(5] (BemsomBnR] | LhssoUs
5 FAB L ERH
1R (12F) ovvay [$> QBIE20%MDHA 152,000 DA
 EEas (C5RBIIER) - EEAY = B % 4 - T 42000A B8
(133,000 +®@44,000H+@33,000M QFRI0%DIHE - 228,000 D EiF

\_=1100001 = EREICETE /) L = WA <> TH118.000HEE




	スライド 3

